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For each question, four options are given. One of them is the correct answer. (28 x 2 marks = 56
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Devi camied out an ssperiment on three simiar s8ces of ead imder difforent

Bread Conditions

Blica &, Placed on a fabla in the kichan

Slica B Sprinéciad with watar and kapt in e cupboand

Slice © Put i an airfighl conkainer and kepl in lhe reldgeralen

ares of Mack
Epals (omT}

Ahe obsanred he thres slices of bread for black spols ovar len days end plotbed the
resulls in the graph,

nurrber of dayvs

Which shcas of bread bes] resrssanl X, Y and T in the graph?

x ¥ z
#) Sce A Sice B Slice C
T St A Slics © Siica B
i3 Sice B Elica A Slicn C
{4) Sica B Shica © Slica A

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 2

Muiltiple Choice
No

Fri 22nd Oct 2021
N/A

29,420,092
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Tra tabla chows some choracledstics of three organisms, P, G end R. A fick [+

Ean ba seen
Orgnions | SHITER A, | O e ouly snder 8
p v
a s v
R - v
Which of ihe fallowing comeciy raprasants P, Q and R?
P a R
1) Cat Fiose plant Mushroom
[ ] Mushraom Bird's nesl fem Bacteria
() Eastaria Bird's nast fiam Rosa Plant
() Yeast Mushroom Baclera
A 1
v B. 2
c. 3
D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: NA
QID#: 29,420,105
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The diagram shows the e opde of a mosquite. Tim speayed off oato the possible
biaeding grounds of mesquitnas in erder ba redisss e rumber of mosquilces.

A%{?ﬁﬁﬂ
\ b

In which of the foliowing twoe stages doas this mathod halp ba reducs the number of
mosqLitoes?

A. AandB

v B. AandD
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D. CandD

Question Type:

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 5

Multiple Choice

Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,110
Question 4
The dizgram shows & seedling.

Y

A. Mass of the seedling
Height of the seedling
C. Length of the root of the seedling

¥ D. Size of the seed leaves of the seedling

Multiple Choice
No

Fri 22nd Oct 2021
N/A

29,420,122
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Ahmaed observed the seadling for a few days and plotied the graph as shown,

——tfima (days)
Whal eould the wertical axde, Y, of the graph reprasent?
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Thie dmgrarm abows a Hower with parts Bbslled A, B, C and 0.

Dwring 1he process of palinalion, pollen greins are fmrsfered fiom pant oy parl,

A. AB
v B. BA
C. B.C
Cc,D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,125
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Which of the following two traits can be passed from parents to their young?

A Eye colour
B Hair length
C Fingerprint
D Ability to roll tongue
A. AandBonly
v B. AandD only
C. CandBonly
D. CandD only

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,133
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Ky preparsd four sei-ups with kentieal baakers o investigade whathar & pland can
simrvhaa willnoud BE laawes.

e | X T
— R

LB

G

Which of the Tollewing pairs of sel-ups should she choasa o test her alm T

A. AandB
Aand C
v ' C. DandB
D. DandC
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,141
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The diagram shows the skelelon of an animal.

Which of the following isfare the function(s) of the skelaton?

Protecis tha vital organs.

Allows the animal to mave.

Sherars the outer covering of the animal,
Prowides sfruchure and shape for the animal.

L v

A. Aonly

B. BandD only
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v’ C. A,BandDonly

D. A B,CandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,149
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Jackis reemaved the culer ring of Bhe sten from a plant bebwsen P and O as shown,
Only the food-carmying tubes wees cul sy with his ouler rdng,

Adlar ben days, which of the Tolowing are fikedy cbeenatlons hal Jackle sould maka

shoud the plani?
A Part P will ba swollen.
| Part & will ba swollen.
L+ Tha leaves hanse diied up.
o Thea frults heve grossm bigger,

A. AandBonly
¥ B. AandDonly

C. B,CandDonly
D. A, B,CandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,160
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Jie Yong carried out three consecutive activities, resting, walking and running, over a period of time.
Which of the graphs best represents the amount oxygen Jie Yong used during each activity?

v A.

amount

aof oxygan
used

amount

of cxypen
Lged

amount

of oxyoen
used
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resting | walking | running
i -
i time
resting i walking : funning
] i
; i
: ,
i i -
time
b,
resting | waliing | running
£ 1
_IE“ i_/,//'
| |
F .
time
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Question 11
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The takls shawe the diffarant call parts presand In salls P, G, R and 8. A tisk (+7)

incicates that the cell part is prosant,
Cell
Cell part P a R s
HNuchksizs El o o
Call Wl ’ v
Cylcplasm - v - /¢
hioroplest v
Ciall Mambrans - - v |

v A P
B. Q
C. R
D. S
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,191

Question 12
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Which call, P, Q, Ror 5, ks mcst Bealy from the root of & plant?
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Tha dizgram repssents & e procoss, L, which takes placa is green plants.

Eubstance P Subslance 5
Ak i from tha Eneeoy T mads in green
Brrdmnman [plants

e Procsas L
Bubshiree O Substance R
Eefesn in from the redeased o the
BrnnrmEnl onvkorenent
Whicin of tha foliowing represents P, 0L R, 5 end T7
Energy T
P a R 8
Cygen whor carbon diouide food Feat
b dinedkde e oy food figka
YA enrBon diendda Toa] watar hsagl
foaced carbon dicodde ConygeEn walbar g

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

Muiltiple Choice
No

Fri 22nd Oct 2021
N/A

29,420,199
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Ehudy the_ classificeSion chard,
Maleisin
|
' I
I [
I | I |
Good Poor Sirong Mot strang
sartieior Boddinaior ‘ T
of haal & el [ ] E
] I
A B Good Poar
corducior conduchor
of heat of heat
1 1
i D

‘Which malerinls ama most sultable for making owen gloves and baldng Fays when

baking 7
Crean glieng Bk draym
i) A G
(2 B D
(0 B c
[4) E E
A 1
2
v C. 3
D. 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,207
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plunger s
pullad bl

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 15
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Multiple Choice
No

Fri 22nd Oct 2021
N/A

29,420,214

tha plunger is pufled back complalely snea?
Voluma of air (em?) | Veheme of waler [sm?)
(1} 250 50
[ 250 30
{3 270 50
) 280 10
A 1
2
v C. 3
D. 4

ClassMarker - Manage Test

The diagram shows & pump which ks connected (o a glass [er. Tha voiumea of the glesa
[ = 300 am and it cordaing 30 orm? of water,

Each Tima ihe plurger of ha pump s pulled back completsly, 20 om® of air woald be
drawn oul of the glass jar.

‘Which of the following shows the cormed wolume of o and waleor in the glass jar afler

Primary 6 Science » Primary 6 Science (Prelim)
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boe
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The arrows in the disgram show some procasses which imphe the changes of skabe
of water. Esch procass inwalves eithar a heat gain or heat loss,

alearn »

waier

W lEr WA pour

A. AandB
A and D
C. CandB
v D. CandD
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,225

Question 16

The disgram shoes the walar cyoe,

A. Heatis needed for process Z only
v' B. Process Y occurs at any temperature

C. Process Y occurs during day time only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Fri 22nd Oct 2021
Last Modified: N/A

/”‘“’“\

WAl VEDOLE

| S

D. Process Z involves a liquid becoming gas

https://www.classmarker.com/a//tests/test/?test_id=1839048

Which pair of atrows repiresents tha prosesses which imeive haat gain?

Primary 6 Science » Primary 6 Science (Prelim)

Which of the fellowing stalements about processas ¥ or Z in the water cycla s comect?
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Qu estion 17 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Tha dagram shows 3 simple clroult.

@

il

|
Gregory added hattaries, one et o #ma, in 8 series amangement bo tha circuil and
recorded tha brightress of the bulb. The graph shews ks resulls.

brighiness =

a1l

5 i batfemas

o

Which af fe folowing Efre possible explunation(s} why the brighiness ol ho bulb
was 2are when ihe skih batiary was added?

A Too many batenkss wans addad to e crosl

B Thesixh batiery did not have any potential aremy
L mmwmmmmmmnwmm

A. Aonly
B only
v C. AandConly

D. BandConly

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,241
Qu estion 18 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

https://www.classmarker.com/a//tests/test/?test_id=1839048 14/44


https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420232
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420232&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048
https://0cm.classmarker.com/10070943_HM9BKBFU.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420241
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420241&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048

11/1/21, 7:44 AM ClassMarker - Manage Test

The diagram shows how the brighiness of the bulb(s) in a clroult iafare controlled by
@ bartion. Tha bulss and bafleriss used are idenfical &nd ark inworking conditon.

When the buthon is nol pressed, only bulb O Eghts up with & brighiness of 10 wnits,

movabla
madal kvar

euton l—ftg—ﬂ”—

Q—if

b O

matal

Wit wouifd happen o the brighinass of both bulbe P and O If the bution ic preseoed

and hekd down?
Bulb P Bulb O
(1} 10 units 0 unilg
2} micne than 10 unils 0 unis
(3 10 units more than 10 units
£ miora than H units maore thaa 10 wniks
A 1
2
C. 3
v' D. 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,287
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The diagmm shows how an eleciomegnetic comveyor bell is used 1o sepanala olyects
A and B.

elacizical
il

Based onldy on the above disgram, which ol B foliowing sletements 1s [hely i be frua?

A. The electromagnet is made of aluminium
Both objects A and B are conductors of electricity
C. Both objects A and B are made of magnetic materials

v D. Object A is made of steel while object B is made of copper

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,300
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In an axpariment, Mr Lim ploced sbiect X on tho weoighing scals and the scals showed
a mading of 10 units, He then placed & bar magnel 2 cm dineclly sbove object X and the
gcabe showed & reading of 12 unds,

shower.

Wihat would be the new reacing on the weighing scale?

v A. 0 unit
B. 10 unit
C. 12 unit
22 unit

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,304
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Kashesm sondiicied an experimenl o find oul how ke romber of calls of wirs around
i g rall weoidd affect fa sihength of the magresised nai.

—— mwtich

ool of wine

11—
N o/

The sirength of e magnelised ral & measored By Bo nembet of paper dipa ket &
would atinech. Kasbaem recordad o resulls 1 the table.

Number of colls of wire | Number of paper lips
arownd ron mall attracted
1 T
20 10
0 ] o
40 15
=) 16
B0 T 18
TO 18

Basod only on the resufts, which of the lollosing conciusiona) com ba maceT

[ Thea mngretissd fall will be abls 1o afrsct monm an 16 paper clips i four

batterins pre used,
B The madvum menbaer of peper ofips Thal can bo allraced by the mesgrist sed
ned e 160
G Afsr 50 cods of wire, e sumber of colls of wire anound the mnl will nat
Increaso B strength of the magmelised nail.
A. Bonly
A and B only

C. AandConly

v ' D. BandConly

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,312
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The Eagram shows tao ron cviinders, A and B, hestad I 100°C,

]’:j I e \
L g

o

Cylinder A Cylinder B

Which of the follcwing B comecf?

A. Cylinder A is hotter than Cylinder B
¥' B. Cylinder A has less heat energy than Cylinder B
C. Both cylinders have the same amount of heat energy

D. Both cylinders will take the same amount of time to reach room temperature

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,319

Question 23 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Tha picture shows a man pushing a bax across the floar.

YWhich of tha following makes it difficuit for the man fo push the box?

The mass of the box.

The forca the man used to push the box,

The friction between the box and the Tloor.

Thi friction betwean the man's feet and the floar,

0O m >

A. AandBonly
¥ B. AandConly
C. DandBonly
D. AandD only
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,327
Question 24 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Tha piclure shows spveml chidnen sitting on a cambal ride, Duing one part of ha ride,
thie children In el saals are dropped from a cerfaln heighd,

B, T, Wand V reprasen] e drecion of possibde lorces ading an B childran during Bis
parl of tha fde.

direcfion i which
PN T | Ifr chiidren in et
” [ AR p  Seatsan dogped

miE R

)

Which arfows show the dissction of grasity and friction acling on the children reapaciivaly
wiern (he saats drop?

| Direction of gravity Direction of friction
i1 L 5]
(@) u W
(2} g T
(4 8 W
v A, 1
B. 2
C. 3
D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,331
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Eptwaim 86l Up o follwing axperimant o maasuno thd amount of Bghl that can pass
theough four maisdsls, A, O, C and D ming & lighl sonacr.

- =

lamp material gl mansor

Ho recorded $e resulfls in e inbis.

Maatarial | Amcunt of light detacted jmits)

A 70

B 154

o o
_D

Wiich of B lollowing ahaws U comest arnmngamant of matarals fram ana thal
o lens| Bght o pass wough ke oo Bl aflows most lght bo prss Geoagh??

adlovre least Light __; Sllows most Bght
to pass through o pons throwgh
[t A B G 8]
{3 B o G A
[r 5] iz A (u] B
(L] G [ B i
A 1
2
C. 3
v' D. 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,335
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Tha dingram shows @ stesl brdge. Cna end of lha bridge & fxsd securely {e e
piruciurs umnlim the other and which |s resdng on rollens: 2z shosn

Which of lhea lollowire slotemenk(s) explainf) why o end of the bridge i resting on

| roflnrsT

A To rducs lotion betesdn the sinichur ard the bridga.

;] Toallow the bridgs 1o wepand on bol days without damaging fhe
Blruciurs,

[ Tix alling Tha rollame i sanirael on cold deys weho damaging ha
lmictuna,

A. Bonly
C only
v C. AandBonly

D. AandConly

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 27

Multiple Choice
No

Fri 22nd Oct 2021
N/A

29,420,361

Primary 6 Science » Primary 6 Science (Prelim)
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Shirflsen carled oul an experimanl e sheem. A lesl lube coniaining warler af 20%0
wma platad In ho conbo of @ badier with Somes fos cubed. The beaker was then b
In & reeemn for somae Eme,

Baged on the axpariment above, which of the folioving sre comect?

Tha koa cubss gainod Baal from the sufrconding and meed.

Tha 0 cubsd kast haat b th wobes in the e ulba Ard meded,
The bessinr gatnad hial from the sumounding and becams cocler.
Thea waler in the tesl fubs losi hest o the ko cubes and b=cams
[= a0

= -

A. AandBonly
¥ B. AandDonly

C. CandBonly
D. CandD only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,371
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The diagram ehows = man biwditg

af Tl grownd shd RS e pied doweT

Question 29

https://www.classmarker.com/a//tests/test/?test_id=1839048

A.
Kl etic hoat kinetic
energy B aneEy 3 onomy
[bowiing {pins) {pine)
bl
B.
polenal Kinlic sl
poaigy < eeamy b eneegy 0 T
tman) (bowing {pire)
hal}
v C
Kt Kinete ]
BB =+ By + oy
{bowiing {pina) {pira}
ball)
D. ”
[ralaried jpoilpiritind kirmatic
enangy > wgy Bfagny
{ertive {rnan) (bosetirag
ball) ball)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,383

ClassMarker - Manage Test

‘Which of the following besl shows the ensrgy consmrsions whon he bowiing ball rolls

Primary 6 Science » Primary 6 Science (Prelim)
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Two boys, Elindt and Jimmy, saw two animals in e garden &5 shiw.

Ellioli said fhat both are insacis but Jimmy said ad only Animal X |8 an insscl,

{a) Basad on you obseratian, who i3 comect? Give 8 reason [OF your angwer,

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,393

Correctly answered feedback

Elliot. Animal X and Y both have 3 body parts and 6 legs like an insect.

Incorrectly answered feedback

Elliot. Animal X and Y both have 3 body parts and 6 legs like an insect.

Question 30 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) State a characteristic of insects that the boys might have learnt which is not observed from the
above pictures

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,400

Correctly answered feedback

Insects has a exe skeleton

Incorrectly answered feedback

Insects has a exe skeleton

Qu estion 31 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

c) State a function of outer covering A

Question Type: Essay

https://www.classmarker.com/a//tests/test/?test_id=1839048 25/44


https://0cm.classmarker.com/10070943_3U1WDZI4.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420393
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420393&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420400
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420400&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048

11/1/21, 7:44 AM ClassMarker - Manage Test

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,405

Correctly answered feedback

To protect it's internal organs

Incorrectly answered feedback

To protect it's internal organs

Qu estion 32 Primary 6 Science » Primary 6 Science (Prelim)

The disgrams show the Be oycles of a froo and & bulterfly.

N
e

Lifa cyzla of a frog Lira cycle af & butledly

{a} Bazad on Fie dizgrams above, sizbe cne similargy bebvmen e e cychas ol & Trog and
8 bubarty i

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,409

Correctly answered feedback

They both have an egg stage

Incorrectly answered feedback

They both have an egg stage

Qu estion 33 Primary 6 Science » Primary 6 Science (Prelim)

b) Both the frog and the butterfly lay many eggs at a time. Explain the advantage of laying eggs at a
time

Question Type: Essay
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
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QID#: 29,420,418

Correctly answered feedback

There will be a higher chance an egg will hatch and have continuity of its own kind

Incorrectly answered feedback

There will be a higher chance an egg will hatch and have continuity of its own kind

Question 34 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

c) How do the adult frog and its young breathe in water?

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,423

Correctly answered feedback

Adult frog breathe through skin in water and young breathe through gills

Incorrectly answered feedback

Adult frog breathe through skin in water and young breathe through gills

Question 35 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Fruit J procuces a gas, ethylene, which causes it to ripen faster.
As such, farmers usually wrap fruit J in a plestic or cloth bag as shown.

Trudt J

clear plastic bag

[a) Esxplain how wrapping fruit § in bags will causa it o ripen fasler.

Question Type: Essay

https://www.classmarker.com/a//tests/test/?test_id=1839048 27144


https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420418
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420418&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420423
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420423&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048
https://0cm.classmarker.com/10070943_ZIIT4S5O.png

11/1/21, 7:44 AM ClassMarker - Manage Test

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,431

Correctly answered feedback

Ethylene produced by the fruit will be trapped inside the bah causing it to ripen faster

Incorrectly answered feedback

Ethylene produced by the fruit will be trapped inside the bah causing it to ripen faster

Question 36 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) What is another advantage for farmers to wrap fruit J in bags?

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,434

Correctly answered feedback

b) Animals will not be able to feed on J

Incorrectly answered feedback

b) Animals will not be able to feed on J

Question 37 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
Martin said that fruit J will only grow if wrapped in a clear plastic bag so that it will still be able to make

food.

c) Do you agree with Martin? Explain your answer

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,447

Correctly answered feedback

No. Fruit J does not need sunlight as it is the leaves that need sunlight to make food

Incorrectly answered feedback

No. Fruit J does not need sunlight as it is the leaves that need sunlight to make food

Question 38 Primary 6 Science » Primary 6 Science (Prelim) Opts

https://www.classmarker.com/a//tests/test/?test_id=1839048 28/44


https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420431
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420431&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420434
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420434&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420447
https://www.classmarker.com/a/tests/qb/manage/?test_id=1839048&question_id=29420447&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1839048

11/1/21, 7:44 AM ClassMarker - Manage Test

Eugens ate a meal of chickan rica.
(8] Comphate tha mhis i show e amount of digested food leaving fhe quilst and senal

Inieefina of Eugens's digeslive system afjier the meal, m
Amoint of digested food
Nams of organ leaving the organ {units)
maouth 10
quillal
elomach pai
gmal inlastine
Question Type: Essay
Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,458

Correctly answered feedback

10

Incorrectly answered feedback

10

Question 39 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Iraside: the walls of she small intesfins ara fingerdiks slructures ag shown,

fingerdits sSruchures:

(B Explain boe thise inger-ihe sbucises efecl e rabe ol sbmorplion of digested food inia
lhez blond vessolks []

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,461

Correctly answered feedback

There is a greater exposed surface area and can absorb faster

Incorrectly answered feedback

There is a greater exposed surface area and can absorb faster
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Question 40 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

c) How do the blood vessels obtain and carry the digested food to all parts of the body

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,469

Correctly answered feedback

Digested food will be absorbed into the walls of the small intestine then absorbed into the blood
stream where blood vessels will transport it to all parts of the body

Incorrectly answered feedback

Digested food will be absorbed into the walls of the small intestine then absorbed into the blood
stream where blood vessels will transport it to all parts of the body

Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Question 41

Ging made & hols in & i of mik before pourng it out. When she wenl b & drink stall, she
a@w Inat the stalihoider had mede iwe halsn inziead of ona In @ Tin befors pouring aul the milk

o= ehawn.

= 13 O MK

“ Slata a diferonce ohsarvad when e milk fiowed out from a fin wkh one hole and a tin
wilh 34 holes. R}

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,473

Correctly answered feedback

Milk flowed out faster with 2 holes than 1 hole

Incorrectly answered feedback

Milk flowed out faster with 2 holes than 1 hole
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Question 42 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) Explain your answer in (a)

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,479

Correctly answered feedback

with 2 holes, air can enter and displace the milk and push it out of the tin that is flowing out of the
hole

Incorrectly answered feedback

with 2 holes, air can enter and displace the milk and push it out of the tin that is flowing out of the
hole

Question 43 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Ging than bought & asaled packal of il and placed A insida & cup &3 shown. Badh Iha packat
of milk ane e cup hevs 8 woluma of 300 ml,

———— zaabad packest of milk

f&) ‘What propery of & Byuid erasled 1ha senlac milk fo be placed in $he cup as shown? (1]

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,481

Correctly answered feedback

Liquid has no definite shape

Incorrectly answered feedback

Liquid has no definite shape

Question 44 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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;!mm:-ﬂﬂmm'im pietes, one on lop of e olhes, and lell them Lo diy & shown in
iagrami

Diagram 1

Her moibar iokd her [o pisna ibe Wil phatas an & deh rack, 88 Shown in 'I:I|Ig"ll.l'l1 2, 50 lhatl
they eould dry faster.

(8] Shate o reances why e wel platss in disgram 2 would dry faster. For aach reason,
Bpain Wur anewer. [2]

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,493

Correctly answered feedback

1. There is a greater exposed surface area and can gain more heat which increases the rate of

evaporation
2. The water droplets on the plate will get pulled down by gravity, so that there is less water left

Incorrectly answered feedback

1. There is a greater exposed surface area and can gain more heat which increases the rate of

evaporation
2. The water droplets on the plate will get pulled down by gravity, so that there is less water left

Question 45 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Mary bowght o dish rack with @ plaslic cover, Sne placed somawed plabae anla b dish rack
ard closed ha cover, Afler some Gmea, sha noiced waiar droplets an tha inner sLrdscs of the
pleabic covar as shown.

wales draplels an Hie icner

surface of plastio poyes
wal plates

- ‘Tr

{ﬁﬁ

b} Explain how Ene vabar droplels ware formed, 1

dish rack with
A plashc covar

R

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,500
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Correctly answered feedback

Water droplets were formed when water from wet dishes gained heat and evaporated causing
water vapour to form. Once water vapour was formed water vapour condense on the cooler inner
surface of plastic cover causing water droplets to form

Incorrectly answered feedback

Water droplets were formed when water from wet dishes gained heat and evaporated causing
water vapour to form. Once water vapour was formed water vapour condense on the cooler inner
surface of plastic cover causing water droplets to form

The Eagrem shows pan of a crout ina canea

light b enedt plecs

for et bigion

fmeled apning

?I:.EHW’HL‘EIHE

—= hatary

To lake a phebograph, Me camara shulter nesds 1o be connesiad 1o & ciosec circut wih the
button being pressed down, A pholograph san also be ieken by the camans with of withois the
Lz of Tlaghs

ia) Uaing @ swilch and some wires, comphebs te crcul in the diagram so hat the cmens
will woriod a8 described abavs, ]

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,513

Correctly answered feedback
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Question 47 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) Suggest a disadvantage of the circuit above

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,530

Correctly answered feedback

If the bulb fuses, the circuit will be opened and will not work

Incorrectly answered feedback

If the bulb fuses, the circuit will be opened and will not work

Question 48 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

c) If the metal pieces are switch to plastic pieces, will the camera still work? Explain your answer
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Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,536

Correctly answered feedback

No. Plastic is not a conductor of electricity and the circuit will be opened and no electricity will flow

Incorrectly answered feedback

No. Plastic is not a conductor of electricity and the circuit will be opened and no electricity will flow

danesh fied obiect X on lop of ks plesfic toy car. He placed tham on -8 frack which aRowad
EﬂhﬁwMiﬁanﬁamm.mﬂum of the brack, lwa atachad a sirong magret o
&8 Bhoam.

pﬁﬂrmmra‘mﬂemge Fa o

L
b
Janath pushed the car wih object X fowards the magned. Al distanca P, he r&rﬂ;dhm
vary genly. The car with uh.indl-twasplrsmumurmmmﬁ travelled a distarcs
0 baloe shpping. He rgpqmu ihe sieps wilh decessing dislence P each time and
mezzured he new distanes O

[a) Mama ora autobhe matedal far chiect 3. [1]

Accepted answers:

v steel

Question Type: Free Text

b) Explain why the car with object X was pushed back along the track when Janesh released it.
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Date Added: Fri 22nd Oct 2021

Last Modified: N/A

QID#: 29,420,539
Question 50 Primary 6 Science » Primary 6 Science (Prelim)
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Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,546

Correctly answered feedback

The like poles of X and the magnet was facing and repelled each other

Incorrectly answered feedback

The like poles of X and the magnet was facing and repelled each other

Question 51 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

c) State the relationship between distance P and distance Q

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,550

Correctly answered feedback

The more distance P, the shorter distance Q

Incorrectly answered feedback

The more distance P, the shorter distance Q

Question 52 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
Janesh repeated the experiment using the same set-up, but he increased distance P instead. He
observed that at a certain distance P, the car with object X did not move at all

d) Explain Janesh's observation

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,560

Correctly answered feedback

X was too far away from the magnet to be repelled

Incorrectly answered feedback

X was too far away from the magnet to be repelled

Question 53 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Noml carmied out an expsriment using the sehup as shawn. He lied & woosden lJlu-:HEn s4nng
and hung @ hack weight on the ofher and. He placed the woadan Block an differant matarials.
%, ard Z, and sddad weighls untd e woeden biock staried o slide,

He reconded his resulls i e ahie,

Meaterial | X ¥ | £
Musmbar of walghts noeded to 5 B [ 3
cause the wooden block to slide |

&} Mame the bwo types of farces ecting on the woodan block as 1L slid acmoes each matarial,
M1

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,649

Correctly answered feedback

Friction and Gravity

Incorrectly answered feedback

Friction and Gravity

Question 54 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) Based on Noel's results, which material was the smoothest? Explain why

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,662

Correctly answered feedback

Z. It needed the last weight needed for the block to slide and it had the least friction between the
clock and the material

Incorrectly answered feedback

Z. It needed the last weight needed for the block to slide and it had the least friction between the
clock and the material
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Question 55 Primary 6 Science » Primary 6 Science (Prelim) O pts

Mosl prepared a difprent sal-up far anofher experimenl, He used a spring balance to puil a
b up the slape and fhen down the glops made of sach maberal as shown

Blow (5 puliad up tha slugs Bax k£ pulled cosn ra slopa

Mo noticed that for shichevss materdal be wed, monm foroe was needed o pull fhe B up
the slopa than cosn

(e} Explain why 3 grostar foroe wes nesdad to pull tha bog up ha gloge, Y & ]

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,667

Correctly answered feedback

Pulling the block up the slope requires more force to go against gravity

Incorrectly answered feedback

Pulling the block up the slope requires more force to go against gravity

Question 56 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The diagram shows @ diver diving Inlo a pool, She jumps off fe spring boand at paint A,
raaches up reo e ai §ll peind B and enbers the water & painl C

B
A
speing board E
E ) | D
walBr
R ey SUCHETRET o
-
{a) Siate the dorce which alows tha divar fo jump off 8l peir A [1]
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Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,674

Correctly answered feedback

elastic spring force

Incorrectly answered feedback

elastic spring force

Question 57 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) Without charging the spring board, what can the diver do if she wants to reach a point higher than
B?

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,683

Correctly answered feedback

push down harder or apply greater downward force to increase compression of spring

Incorrectly answered feedback

push down harder or apply greater downward force to increase compression of spring

Question 58 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

(g} o the space balow, deaw a Ine graph to show e amount of grasvilational tree acling
o the dhuer ot pesiions A B amd C. [}

arneunt of grenvtational farce (unis)

i BT e

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,686
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Correctly answered feedback

on tha divar at positions A, B and €,

amount of grastalioral fece [units)

ClassMarker - Manage Test

in the space hebow, S 2 line gregh to show the amount of gravilalional force acling

1}

Incorrectly answered feedback

an the dhar at poslions A, B and €,

amount of grastalioral fece [units)

poeihica

in the space hebow, S 8 line gregh to show the amount of gravilalional force scling

(4]
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Mingzhe heabed a breaker of warer o find out Bow lhe voleme of waler affecls e rate &l wihich

beaker of water

Mingzha used four itentics] sat-ups and filed each beabar with diferent wolumes of water. Hi

Bosker | VOlume of water Temperature Temperature
at the start (cm) atthe start (*C) | ot the 5% min (°C} |
A a0 15 &5
B 5O 15 = =
o _5.5 18 | ¥
D a0 18 o

{a)} Predial Bevaloeof Y.

Accepted answers:

v 40

Question Type: Free Text

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,692

Question 60

b) What could Mingzhe conclude from the results above?

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,697

Correctly answered feedback

Incorrectly answered feedback

Question 61

https://www.classmarker.com/a//tests/test/?test_id=1839048

[

Primary 6 Science » Primary 6 Science (Prelim)

The more volume of water at the start the temperature of water at the 5th minute decreases

The more volume of water at the start the temperature of water at the 5th minute decreases

Primary 6 Science » Primary 6 Science (Prelim)

0 pts

0 pts
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Wingzhe condinusd lo hesd the waler in beaker D. The table shows tha resulls,

Time (min] o 5 | 1[4 [ 20 25 an |
Temperaiure
atwatarc) | '3 | 35 | 80 | 85 | 100 | 100 | Noreading ||

Why was there no resding al the 30% minuts?

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,700

Correctly answered feedback

All the water had evaporated

Incorrectly answered feedback

All the water had evaporated

Question 62

baaikar of cold waler, as shown.

Explain wihy,

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,705

Correctly answered feedback

It will decrease, The water will lose heat to the cold water

Incorrectly answered feedback

It will decrease, The water will lose heat to the cold water

https://www.classmarker.com/a//tests/test/?test_id=1839048

e bl {Libots Wl Pt vember
f—=— hemtker with ol waker

(d} What wil rappan 12 the lamperahre of e hod waler in e esi tube aited 2ome hma?

Primary 6 Science » Primary 6 Science (Prelim)

In amcher expecment, Mingte poured soma hod water indo a tesl fube anc placed It Inlo a

[
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Question 63 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

e) After three hours, the temperature of the water in the test tube and beaker reached room
temperature and remained at room temperature. Explain why

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,717

Correctly answered feedback

The water in the test tube and the water in the beaker did

Incorrectly answered feedback

The water in the test tube and the water in the beaker did

Question 64 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The disgraen shows a toy. Whan the alastc bend iz pubed and Ben reeased, the wheslwil
£pin befare fying off. The gractar the rumbar of frnes the whesl spirs, the fudher It ravals,

Aighah wanlg to find out how the numbaer of spins of the whaal changes when the eisatc band
15 pulled 1o different lengths. !

The labis 2howes Uss regulls of her exparmeni,

Lamgth of the elastic band | Number of times the
when puiled, X [cm) whoel spins
4 2
B 4
12 N #

(@} Axhah used the sama wheel roughoul ber expariment. Explain how this ensunes & tair
bast I

Question Type: Essay

Date Added: Fri 22nd Oct 2021
Last Modified: N/A
QID#: 29,420,729

Correctly answered feedback

There will be only one changed variable and the number of spins of the wheel is only due to the
length of the elastic band pulled and not other variables like the type of wheel
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Question Type:
Date Added:
Last Modified:
QID#:

(energy)

Clue

elastic potential

kinetic

kinetic

Grade style:
Shuffle Mode:
Date Added:
Last Modified:
QID#:

Question Type:

Incorrectly answered feedback

Question 65

Essay

Fri 22nd Oct 2021
N/A

29,420,732

Correctly answered feedback

The more X, the more time the wheel spins

Incorrectly answered feedback

The more X, the more time the wheel spins

Question 66

Matching

Full points if all answers are correct
Shuffle Matches Only

Fri 22nd Oct 2021

N/A

29,420,747

ClassMarker - Manage Test

There will be only one changed variable and the number of spins of the wheel is only due to the
length of the elastic band pulled and not other variables like the type of wheel

Primary 6 Science » Primary 6 Science (Prelim)

b) State the relationship between X and the number of times the wheel spins

Primary 6 Science » Primary 6 Science (Prelim)

Match the options below to show the energy conversion of the toy starting from the time Aishah
releases the elastic band till the wheel spins :

Match

tretched elastic band

the elastic band is released

spining wheel

0 pts

1 pt
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